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1.______ offers services such as search 

capabilities, e-,mail, news stock price, 

weather information, sports and 

entertainment. 

(A) Hostel 

(B) Portal 

(C) Article 

(D) Newspaper 

 

2.A ‘menu’ contains a list of 

(A) data 

(B) objects 

(C) reports 

(D) commands 

 

3.Choose the smallest memory size unit. 

(A) KB 

(B) MB 

(C) GB 

(D) TB 

 

4.DuckDuckGo is a 

(A) Search engine 

(B) Web browser 

(C) Virus 

(D) News Web site 

 

5.Ethernet is an example of 

(A) MAN 

(B) LAN 

(C) WAN 

(D) Wi-Fi 

 

6.Firewall is used in communication 

network/system for protection from 

(A) Unauthorized attack 

(B) data driven attack 

(C) Fire attack 

(D) virus attack 

 

7.How many bits are there in one byte? 

(A) 2 

(B) 8 

(C) 10 

(D) 16 

 

8.In the context of computer security, 

crackers are also known as 

(A) Black hat hackers 

(B) White hat hackers 

(C) Elite hackers 

(D) Script kiddie 

 

9.One byte has 

(A) 8-bits 

(B) 16-bits 

(C) 32-bits 

(D) 64-bits 

 

10.Who is considered as the inventor of 

WWW-World Wide Web? 

(A) Edward kasner 

(B) bill gates 

(C) tim-berners-lee 

(D) vinod dham 

11. 1024 kilobytes are equal to 

(A) 1 megabyte 

(B) 1 gigabytes 

(C) 10 kilobytes 

(D) 1024 bytes 

 

12. A modem converts 

(A) Analog signals into digital signals 

(B) Digital signals into analog signals 

(C) Both (A) and (B) 

(D) None of the above 

 

13. Am intentionally disruptive software 

that spreads from computer tocomputer is 

known as 

(A) search engine 

(B) chat software 

(C) e-mail 

(D) virus 

 

14. Binary language consists of how many 

digits? 

(A) 2 

(B) 3 

(C) 4 

(D) 16 

 

15. FTP stands for 
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(A) file translate protocol 

(B) file transit protocol 

(C) file tying protocol 

(D) file transfer protocol 

 

16. Junk e-mail is also called 

(A) spoof 

(B) spool 

(C) sniffer script 

(D) spam 

 

17. Slowest Internet connection service is 

(A) digital subscriber line 

(B) dial up service 

(C) leased line 

(D) cable modem 

 

18. SMPS stands for 

(A) switched mode power supply 

(B) start mode power supply 

(C) signal mode power supply 

(D) store mode power supply 

 

19. The basic unit of Excel spreadsheet 

where we enter data is known as 

(A) tab 

(B) box 

(C) cell 

(D) none of these 

 

20. The collection of linked information 

residing on computers which isavailable 

through internet is called 

(A) Web Server 

(B) Web Store 

(C) World Wide Web 

(D) Web Information 

 

21. The first page that you normally view 

at a website is its 

(A) home page 

(B) master page 

(C) first page 

(D) banner page 

 

22. The place where accessories are 

connected in computer is known as 

(A) port 

(B) ring 

(C) bus 

(D) zip 

 

23. The service of the Internet that 

provides ‘audio’ and ‘video’conversation, 

is called 

(A) chat 

(B) e-mail 

(C) video conferencing 

(D) video chat 

 

24. The term _____ refers to an individual, 

who breaks into computersystems without 

authorization, deliberately defaces Web 

sites forfraudulent purpose. 

(A) white hat 

(B) hacker 

(C) cracker 

(D) attacker 

 

25. The word ‘spam’ is related to which 

subject? 

(A) computer 

(B) arts 

(C) music 

(D) sports 

 

26. What are the two parts of E-mail 

address? 

(A) user name and home address 

(B) legal name and phone number 

(C) signature and password 

(D) user name and domain address 

 

27. What is the full form of http? 

(A) Hypertext Transfer Program 

(B) Hypertext Transfer protocol 

(C) Hypertool Transfer Program 

(D) Hypertool transfer protocol 

 

28. What is the virus that spreads in 

computer? 

(A) hardware 

(B) computer program 

(C) ant 

(D) system software 

 

29. When customers of a Web site are 

unable to access it due to floodingof fake 

network traffic, it is known as 
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(A) virus 

(B) Trojan horse 

(C) cracking 

(D) denial of service attack 

 

30. Which of the following acronyms is 

normally used to describeunsolicited junk 

e-mails ? 

(A) CRAM 

(B) DRAM 

(C) JAM 

(D) SPAM 

 

31. Which of the following are the two 

essential features of cyber crime ? 

(A) Computer technology as modus 

operandi and intangibility of 

theenvironment 

(B) Offender computer skills and victim 

ignorance of computer technology 

(C) Hardware and software 

(D) Hackers and crackers 

 

32. Which of the following devices is 

compulsory for videoconferencing? 

(A) printer 

(B) scanner 

(C) webcam 

(D) mouse 

 

33. Which of the following is a connecting 

device? 

(A) router 

(B) hub 

(C) switch 

(D) all of these 

 

34. Which of the following is a search 

engine? 

(A) baidu 

(B) packets 

(C) cookies 

(D) none of the above 

 

35. Which of the following is not a 

computer hardware? 

(A) mouse 

(B) printer 

(C) monitor 

(D) excel 

 

36. Which of the following is not a 

computer language? 

(A) Basic 

(B) C++ 

(C) JAVA 

(D) Paint Brush 

 

37. Which of the following is not a Web 

browser? 

(A) Opera 

(B) Google Apps 

(C) Vivaldi 

(D) Mozilla Firefox 

 

38. Which of the following is not an 

essential component required forvideo-

conferencing system? 

(A) Video camera 

(B) Display device 

(C) Telephone 

(D) Microphone 

 

39. Which of the following is the largest, 

fastest and costliest computer? 

(A) personal computer 

(B) super computer 

(C) laptop 

(D) notebook 

 

40. Which of the following works is not 

done by computer? 

(A) computing 

(B) processing 

(C) understanding 

(D) outputting 

 

41. Which one is mainly used in checking 

of objective type answer paper in the 

examination? 

(A) MICR 

(B) OMR 

(C) OCR 

(D) MCR 

 

42. Which type of computer could be 

found in a digital watch? 

(A) mainframe 

(B) super computer 
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(C) notebook computer 

(D) embedded computer 

 

43. Which web browser was developed by 

Google? 

(A) Internet explorer 

(B) firefox 

(C) safari 

(D) chrome 

 

44. Who is known as the father of the 

Indian supercomputer? 

(A) raghunath mashelkar 

(B) vijay bhatkar 

(C) jayant narlikar 

(D) nandan nilekani 

 

45. Who is the Chief of Wipro Company? 

(A) Azim Premji 

(B) Ratan Tata 

(C) Anil Ambani 

(D) Aditya Birla 

 

46. Who is the inventor of WWW? 

(A) Bill Gates 

(B) Tim Berners-Lee 

(C) Timothy Bill 

(D) Ray Tomlinson 

 

47. Word processing, spreadsheet, and 

photo editing are examples of 

(A) application software 

(B) system software 

(C) operating system software 

(D) platform software 

 

48. Artificial Intelligence is about_____. 

a) Playing a game on Computer 

b) Making a machine Intelligent 

c) Programming on Machine with 

your Own Intelligence 

d) Putting your intelligence in 

Machine 

 

49. Who is known as the -Father of AI"? 

a) Fisher Ada 

b) Alan Turing 

c) John McCarthy 

d) Allen Newell 

 

50. Select the most appropriate situation 

for that a blind search can be used. 

a) Real-life situation 

b) Small Search Space 

c) Complex game 

d) All of the above 

51. The application/applications of 

Artificial Intelligence is/are 

a) Expert Systems 

b) Gaming 

c) Vision Systems 

d) All of the above 

52. Among the given options, which 

search algorithm requires less memory? 

a) Optimal Search 

b) Depth First Search 

c) Breadth-First Search 

d) Linear Search 

 

53. If a robot is able to change its own 

trajectory as per the external conditions, 

then the robot is considered as the__ 

a) Mobile 

b) Non-Servo 

c) Open Loop 

d) Intelligent 

 

54. Which of the given language is not 

commonly used for AI? 

a) LISP 

b) PROLOG 

c) Python 

d) Perl 

 

55. A technique that was developed to 

determine whether a machine could or 

could not demonstrate the artificial 

intelligence known as the___ 

a) Boolean Algebra 

b) Turing Test 

c) Logarithm 

d) Algorithm 

 

56. The component of an Expert system 

is_________. 

a) Knowledge Base 

b) Inference Engine 

c) User Interface 

d) All of the above 
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57. Which algorithm is used in the Game 

tree to make decisions of Win/Lose? 

a) Heuristic Search Algorithm 

b) DFS/BFS algorithm 

c) Greedy Search Algorithm 

d) Min/Max algorithm 

58. The available ways to solve a problem 

of state-space-search. 

a) 1 

b) 2 

c) 3 

d) 4 

 

59. Among the given options, which is not 

the required property of Knowledge 

representation? 

a) Inferential Efficiency 

b) Inferential Adequacy 

c) Representational Verification 

d) Representational Adequacy 

 

60. An AI agent perceives and acts upon 

the environment using___. 

a) Sensors 

b) Perceiver 

c) Actuators 

d) Both a and c 

 

61. Which rule is applied for the Simple 

reflex agent? 

a) Simple-action rule 

b) Simple &Condition-action rule 

c) Condition-action rule 

d) None of the above 

62. Which agent deals with the happy and 

unhappy state? 

a) Utility-based agent 

b) Model-based agent 

c) Goal-based Agent 

d) Learning Agent 

63. Rational agent always does the right 

things. 

a) True 

b) False 

 

64. Which term describes the common-

sense of the judgmental part of problem-

solving? 

a) Values-based 

b) Critical 

c)Analytical 

d)Heuristic 

 

65. Which AI technique enables the 

computers to understand the associations 

and relationships between objects and 

events? 

a) Heuristic Processing 

b) Cognitive Science 

c) Relative Symbolism 

d) Pattern Matching 

 

66. The exploration problem is 

where______. 

a) Agent contains the knowledge of 

State and actions. 

b) Agent does not contain the 

knowledge of State and actions. 

c) Only actions are known to the 

agent. 

d) None of the above 

 

67. In the Wumpus World Problem, the 

reason for the uncertainty is that the 

agent's sensor gives only__ 

a) Full & Global information 

b) Partial & Global Information 

c) Full & local information 

d) Partial & local Information 

68. The search algorithm which is similar 

to the minimax search, but removes the 

branches that don't affect the final output is 

known as__. 

a) Depth-first search 

b) Breadth-first search 

c) Alpha-beta pruning 

d) None of the above 

69. The maximum depth to which the 

alpha-beta pruning can be applied. 

a) Eight states 

b) Six states 

c) Ten states 

d) Any depth 

 

70. Among the given options, which is 

also known as inference rule? 

a) Reference 

b) Reform 

c) Resolution 

d) None of the above 
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71. Which of the following option is used 

to build complex sentences in knowledge 

representation? 

a) Symbols 

b) Connectives 

c) Quantifier 

d) None of the above 

 

72. Automatic Reasoning tool is used 

in_____. 

a) Personal Computers 

b) Microcomputers 

c) LISP Machines 

d) All of the above 

73. If according to the hypothesis, the 

result should be positive, but in fact it is 

negative, then it is known as_______. 

a) False Negative Hypothesis 

b) False Positive Hypothesis 

c) Specialized Hypothesis 

d) Consistent Hypothesis 

74. A hybrid Bayesian Network 

consist_____. 

a) Discrete variables only 

b) Discontinuous Variable 

c) Both Discrete and Continuous 

variables 

d) Continuous Variable only 

 

75. The process of capturing the inference 

process as Single Inference Rule is known 

as: 

a) Clauses 

b) Ponens 

c) Generalized Modus Ponens 

d) Variables 

76. Which process makes two different 

Logical expressions look identical? 

a) Unification 

b) Lifting 

c) Inference Process 

d) None of the above 

77. Which algorithm takes two sentences 

as input and returns a Unifier? 

a) Inference 

b) Hill-Climbing 

c) Unify algorithm 

d) Depth-first search 

78. The PEAS in the task environment is 

about____________. 

a. Peer, Environment, Actuators, 

Sense 

a) Performance, Environment, 

Actuators, Sensors 

b) Perceiving, Environment, 

Actuators, Sensors 

c) None of the above 

79. In state-space, the set of actions for a 

given problem is expressed by the_____. 

a) Intermediate States 

b) Successor function that takes 

current action and returns next state 

c) Initial States 

d) None of the above 

 

80. In which search problem, to find the 

shortest path, each city must be visited 

once only? 

a) Map coloring Problem 

b) Depth-first search traversal on a 

given map represented as a graph 

c) Finding the shortest path between a 

source and a destination 

d) Travelling Salesman problem 

 

 

81. What percentage of the budget has 

been provided by the government for the 

development of ICT? 

a) 5 

b) 3 

c) 6 

d) 7 

 

82. Who is considered the father of 

information communication technology in 

India? 

a) Madan Mohan Malviya 

b) Indira Gandhi 

c) Rajiv Gandhi 

d) (D) Atal Bihari Vajpai 

 

83. Which year was celebrated as the year 

of e-governance in India? 

a) 2001 

b) 2003 

c) 2005 

d) 2007 

 

84. Where was the NEF organized? 
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a) Rajasamand 

b) Bharatpur 

c) Alwar 

d) Udaipur 

 

85. In which districts is the E district 

operated? 

a) Ajmer Alwar 

b) Ajmer Jodhpur 

c) Jaipur Bharatpur 

d) (D) Jaipur Jhalawar 

 

86. National level e-governance scheme 

launched 

a) on 14 August 2002 

b) 15th August 2002 

c) 13 August 2002 

d) 16 August 2002 

 

 

  

87. Services are prevalent under e-

governance 

a) Bhamashah 

b) Emitra 

c) Education Portal 

d) all 

 

88. The use of information and 

communication technology in the work of 

administration is called 

a) e-governance 

b) e-learning 

c) Tally governance 

d) Emitra 

 

89. Which state got the National e-

Governance Award for the year 2014 for 

monitoring the Mahatma Gandhi National 

Rural Employment Guarantee Act 

scheme? 

a) Gujarat 

b) Rajasthan 

c) Haryana 

d) Punjab 

 

90. The electronic exchange of information 

between the government and citizens is 

called 

a) G2C 

b) G2G 

c) G2B 

d) G2E 

 

91. What is the percentage of budget 

provisioned by the government for the 

development of ICT? 

a) 1% 

b) 2% 

c) 3% 

d) 4% 

 

92. Who is considered the father of 

Information Communication Technology 

in India? 

a) Mahatma Gandhi 

b) Rajiv Gandhi 

c) Indra Gandhi 

d) others 

 

93. Many processes are done by e-

governance, which of them is mismatched? 

a) G to G 

b) G TO P 

c) G to C 

d) G TO E 

 

94. When was the Information Technology 

Act implemented in India? 

a) 18 October 2000 

b) 18 October 2002 

c) 10 October 2004 

d) 15 August 2002 

 

95. Which year is celebrated as 

Governance Year in India? 

a) on 2000 

b) 2001 

c) 2002 

d) 2003 

 

96. In which district the Knowledge 

Exchange Forum (NEF) was organized in 

collaboration with Elets Techno Media on 

13th December 2012? 

a) Jaipur 

b) Jhunjhunu 

c) Jhalawar 

d) Udaipur 
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97. Common Service Center (CSC) is a 

mission mode project, what is it related to? 

a) Center Mission Mode Project 

b) State Mission Mode Project 

c) Integrated Mission Mode Project 

d) all three of the above 

 

98. What is the official web portal of 

Rajasthan Government? 

a) Raj Darpan 

b) Gyan Darpan 

c) Sarkar Darpan 

d) State Government Mirror 

 

99. Devang Mehta said e-governance? 

a) Online Governance 

b) Good Governance 

c) Smart Governance 

d) digital governance 

 

100. When are digitally signed certificates 

being issued in Rajasthan? 

a) 12 May 2011 

b) 12 May 2012 

c) 1st April 2011 

d) 1st April 2012 

 

101. When was the national e-governance 

program of the e-governance project 

launched? 

a)  16 August 2002 

b)  15 August 2002 

c)  2001 

d)  15 August 2001 

 

102. The csc project is being run at the 

state level for 

a)  information prodhyogiki 

b)  Rajkom 

c)  both 

d)  any nhi 

 

103. How many phases are there in the e-

governance project? 

a)  6 

b)  4 

c)  2 

d)  1 

 

104. When was the csc project started in 

Rajasthan? 

a)  2009 

b)  2008 

c)  2002 

d)  2001 

 

105 is included under e-governance? 

a)  e-friend 

b)  B2c 

c)  both 

d)  none 

 

106 Services available in e-governance are 

a)  G2c 

b)  B2c 

c)  B2b 

d)  suitable all 

 

107. When was the 'e-Governance' center 

set up by the government in the Ministry 

of Information Technology? 

a) 26 January 2000 

b) 30 March 2001 

c) 2 April 2002 

d) 15 August 2000 

 

 

 

 

 

 

 

 

 

 

 



 

 10 

1.______ खोज क्षमता, ई-मेल, समाचार स्टॉक 

मूल्य, मौसम की जानकारी, खेल और मनोरंजन 

जैसी सेवाए ंप्रदान करता है। 

(ए) छात्रावास 

(बी) पोटटल 

(सी) लेख 

(डी) समाचार पत्र 

 

2.A 'मेनू' में की एक सूची होती है 

(ए) डेटा 

(बी) वस्तुओ ं

(सी) ररपोटट 

(डी) आदेश 

 

3. सबसे छोटी मेमोरी साइज यूननट चुनें। 

(ए) केबी 

(बी) एमबी 

(सी) जीबी 

(डी) टीबी 

 

4.DuckDuckGo एक है 

(खोज इजंन 

(बी) वेब ब्राउज़र 

(सी) वायरस 

(डी) समाचार वेब साइट 

 

5.ईथरनेट नकसका उदाहरण है? 

(एक आदमी 

(बी) लैन 

(सी) वान 

(डी) वाई-फाई 

 

6.फायरवॉल का उपयोग संचार नेटवकट /नसस्टम में 

नकससे सुरक्षा के नलए नकया जाता है? 

(ए) अननिकृत हमला 

(बी) डेटा संचानलत हमला 

(सी) आग हमला 

(डी) वायरस हमला 

 

7. एक बाइट में नकतने नबट होते हैं? 

(ए) 2 

(बी) 8 

(सी) 10 

(डी) 16 

 

8. कम्प्यटूर सुरक्षा के सन्दर्ट में पटाखों को के रूप 

में र्ी जाना जाता है 

(ए) ब्लैक हैट हैकसट 

(बी) व्हाइट हैट हैकसट 

(सी) कुलीन हैकसट 

(डी) नस्ि्ट नकडी 

 

9.एक बाइट है 

(ए) 8-नबट्स 

(बी) 16-नबट्स 

(सी) 32-नबट्स 

(डी) 64-नबट्स 

 

10. WWW-वल्डट वाइड वेब का आनवष्कारक 

नकसे माना जाता है? 

(ए) एडवडट कासनेर 

(बी) नबल गेट्स 

(सी) नटम बनटसट-ली 

(डी) नवनोद िाम 

  

11. 1024 नकलोबाइट बराबर होते हैं 

(ए) 1 मेगाबाइट 

(बी) 1 गीगाबाइट 

(सी) १० नकलोबाइट 

(डी) १०२४ बाइट्स 

 

12. एक मॉडेम रूपांतररत होता है 

(ए) नडनजटल नसग्नल में एनालॉग नसग्नल 

(बी) एनालॉग नसग्नल में नडनजटल नसग्नल 
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(सी) दोनों (ए) और (बी) 

(डी) उपरोक्त में से कोई नहीं 

 

13. क्या जानबूझकर नवघटनकारी सॉफ़्टवेयर है जो 

कं्यूटर से कं्यूटर तक फैलता है, के रूप में जाना 

जाता है 

(खोज इजंन 

(बी) चैट सॉफ्टवेयर 

(सी) ई-मेल 

(डी) वायरस 

 

14. बाइनरी र्ाषा में नकतने अंक होते हैं? 

(ए) 2 

(बी) 3 

(सी) 4 

(डी) 16 

 

15. एफटीपी का अथट है 

(ए) फाइल अनुवाद प्रोटोकॉल 

(बी) फाइल ट्ांनजट प्रोटोकॉल 

(सी) फाइल टाईइगं प्रोटोकॉल 

(डी) फाइल ट्ांसफर प्रोटोकॉल 

 

16. जकं ई-मेल को र्ी कहा जाता है 

(ए) स्पूफ 

(बी) स्पलू 

(सी) नस्नफर नस्ि्ट 

(डी) स्पैम 

 

17. सबसे िीमी इटंरनेट कनेक्शन सेवा है 

(ए) नडनजटल सब्सिाइबर लाइन 

(बी) डायल अप सेवा 

(सी) लीज्ड लाइन 

(डी) केबल मॉडेम 

 

18. एसएमपीएस का अथट है 

(ए) नस्वच मोड नबजली की आपूनतट 

(बी) स्टाटट मोड नबजली की आपूनतट 

(सी) नसग्नल मोड नबजली की आपूनतट 

(डी) स्टोर मोड नबजली की आपूनतट 

 

19. एक्सेल स्पे्रडशीट की मूल इकाई जहां हम डेटा 

दजट करते हैं, के रूप में जाना जाता है 

(एक टैब 

(बी) बॉक्स 

(सी) सेल 

(डी) इनमें से कोई नहीं 

 

20. इटंरनेट के माध्यम से उपलब्ि कं्यूटरों पर रहने 

वाली नलंक्ड सूचनाओ ंके संग्रह को कहा जाता है 

(ए) वेब सवटर 

(बी) वेब स्टोर 

(सी) वल्डट वाइड वेब 

(डी) वेब सूचना 

 

21. नकसी वेबसाइट पर आप आमतौर पर जो 

पहला पेज देखते हैं, वह उसका होता है 

(ए) होम पेज 

(बी) मास्टर पेज 

(सी) पहला पृष्ठ 

(डी) बैनर पेज 

 

22. वह स्थान जहााँ कं्यूटर में सहायक उपकरण 

जुडे होते हैं, कहलाते हैं 

(ए) बंदरगाह 

(लाना 

(सी) बस 

(डी) नज़प 

 

23. इटंरनेट की वह सेवा जो 'ऑनडयो' और 

'वीनडयो' वाताटलाप प्रदान करती है, कहलाती है 

(ए) चैट 

(बी) ई-मेल 

(सी) वीनडयो कॉन्रें नसंग 
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(डी) वीनडयो चैट 

 

24. शब्द _____ एक व्यनक्त को संदनर्टत करता 

है, जो नबना प्रानिकरण के कं्यूटर नसस्टम में सेंि 

लगाता है, जानबूझकर िोखािडी के उदे्दश्य से वेब 

साइटों को नवकृत करता है। 

(ए) सफेद टोपी 

(बी) हैकर 

(सी) पटाखा 

(डी) हमलावर 

 

25. 'स्पैम' शब्द नकस नवषय से संबंनित है? 

(एक कं्यटूर 

(बी) कला 

(सी) संगीत 

(डी) खेल 

 

26. ई-मेल एडे्रस के दो र्ाग कौन से हैं? 

(ए) उपयोगकताट नाम और घर का पता 

(बी) कानूनी नाम और फोन नंबर 

(सी) हस्ताक्षर और पासवडट 

(डी) उपयोगकताट नाम और डोमेन पता 

 

27. http का पूणट रूप क्या है ? 

(ए) हाइपरटेक्स्ट ट्ांसफर प्रोग्राम 

(बी) हाइपरटेक्स्ट ट्ांसफर प्रोटोकॉल 

(सी) हाइपरटूल ट्ांसफर प्रोग्राम 

(डी) हाइपरटूल ट्ांसफर प्रोटोकॉल 

 

28. कं्यूटर में फैलने वाला वायरस कौन सा है? 

(ए) हाडटवेयर 

(बी) कं्यटूर प्रोग्राम 

(सी) चींटी 

(डी) नसस्टम सॉफ्टवेयर 

 

29. जब नकसी वेब साइट के ग्राहक नकली नेटवकट  

टै्नफक की बाढ़ के कारण उस तक पह ाँचने में 

असमथट होते हैं, तो इसे के रूप में जाना जाता है 

(एक नवषाणु 

(बी) ट्ोजन हॉसट 

(सी) िैनकंग 

(डी) सेवा हमले से इनकार 

 

30. अवांनछत जकं ई-मेल का वणटन करने के नलए 

सामान्य रूप से ननम्पन में से कौन सा शब्दकोष 

उपयोग नकया जाता है? 

(ए) िैम 

(बी) नाटक 

(सी) जाम 

(डी) स्पैम 

 

31. साइबर अपराि की दो अननवायट नवशेषताए ं

ननम्पननलनखत में से कौन सी हैं ? 

(ए) कं्यूटर प्रौद्योनगकी के तौर-तरीकों और 

पयाटवरण की अमूतटता के रूप में 

(बी) अपरािी कं्यटूर कौशल और कं्यूटर 

प्रौद्योनगकी की नशकार अज्ञानता 

(सी) हाडटवेयर और सॉफ्टवेयर 

(डी) हैकसट और िैकसट 

 

32. वीनडयोकांरें नसंग के नलए ननम्पननलनखत में से 

कौन सा उपकरण अननवायट है? 

(एक नप्रंटर 

(बी) स्कैनर 

(सी) वेब कैमरा 

(डी) माउस 

 

33. ननम्पननलनखत में से कौन एक कनेनक्टंग नडवाइस 

है? 

(ए) राउटर 

(बी) हब 

(सी) नस्वच 

(डी) ये सर्ी 

 

34. ननम्पननलनखत में से कौन एक सचट इजंन है? 

(ए) Baidu 
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(बी) पैकेट 

(सी) कुकीज़ 

(डी) उपरोक्त में से कोई नहीं 

 

35. ननम्पननलनखत में से कौन एक कं्यूटर हाडटवेयर 

नहीं है? 

(एक माउस 

(बी) नप्रंटर 

(सी) मॉननटर 

(डी) एक्सेल 

 

36. ननम्पननलनखत में से कौन एक कं्यूटर र्ाषा नहीं 

है? 

(बुननयादी 

(बी) सी++ 

(सी) जावा 

(डी) पेंट ब्रश 

 

37. ननम्पननलनखत में से कौन एक वेब ब्राउज़र नहीं 

है? 

(ए) ओपेरा 

(बी) गूगल ए्स 

(सी) नववाल्डी 

(डी) मोनज़ला फायरफॉक्स 

 

38. ननम्पननलनखत में से कौन सा वीनडयो-कॉन्रें नसंग 

नसस्टम के नलए आवश्यक एक आवश्यक घटक 

नहीं है? 

(ए) वीनडयो कैमरा 

(बी) नडस््ले नडवाइस 

(सी) टेलीफोन 

(डी) माइिोफोन 

 

39. ननम्पननलनखत में से कौन सबसे बडा, सबसे तेज 

और सबसे महंगा कं्यटूर है? 

(ए) पसटनल कं्यटूर 

(बी) सुपर कं्यटूर 

(सी) लैपटॉप 

(डी) नोटबुक 

 

40. ननम्पननलनखत में से कौन सा कायट कं्यूटर द्वारा 

नहीं नकया जाता है? 

(ए) कं्यूनटंग 

(बी) प्रसंस्करण 

(सी) समझ 

(डी) आउटपुट 

 

41. परीक्षा में वस्तुननष्ठ प्रकार के उत्तर पत्र की जााँच 

में मुख्य रूप से नकसका उपयोग नकया जाता है? 

(ए) माइिो 

(बी) ओएमआर 

(सी) ओसीआर 

(डी) एमसीआर 

 

42. नडनजटल घडी में नकस प्रकार का कं्यटूर पाया 

जा सकता है? 

(ए) मेनरेम 

(बी) सुपर कं्यटूर 

(सी) नोटबुक कं्यूटर 

(डी) एम्पबेडेड कं्यूटर 

 

43. गगूल द्वारा कौन सा वेब ब्राउज़र नवकनसत 

नकया गया था? 

(ए) इटंरनेट एक्स्लोरर 

(बी) फायरफॉक्स 

(सी) सफारी 

(डी) िोम 

 

44. र्ारतीय सुपर कं्यूटर के नपता के रूप में नकसे 

जाना जाता है? 

(ए) रघुनाथ माशेलकर 

(बी) नवजय र्टकर 

(सी) जयतं नालीकरी 

(डी) नंदन नीलेकनण 
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45. नवप्रो कंपनी के प्रमुख कौन हैं? 

(ए) अजीम पे्रमनजक 

(बी) रतन टाटा 

(सी) अननल अंबानी 

(डी) आनदत्य नबडला 

 

46. WWW के आनवष्कारक कौन हैं? 

(ए) नबल गेट्स 

(बी) नटम बनटसट-ली 

(सी) नटमोथी नबल 

(डी) रे टॉमनलंसन 

 

47. वडट प्रोसेनसंग, स्पे्रडशीट और फोटो एनडनटंग 

नकसके उदाहरण हैं? 

(ए) ए्लीकेशन सॉफ्टवेयर 

(बी) नसस्टम सॉफ्टवेयर 

(सी) ऑपरेनटंग नसस्टम सॉफ्टवेयर 

(डी) ्लेटफॉमट सॉफ्टवेयर 

 

48. आनटटनफनशयल इटेंनलजेंस लगर्ग _____ है। 

a) कं्यटूर पर गेम खेलना 

b) मशीन को बुनिमान बनाना 

c) अपनी खुद की इटेंनलजेंस के साथ मशीन पर 

प्रोग्रानमंग 

d) अपनी बुनि को मशीन में डालना 

 

49. एआई के नपता के रूप में नकसे जाना जाता 

है"? 

a) नफशर अदा 

b) एलन ट्यूररंग 

c) जॉन मैकाथी 

d) एलन नेवेल 

 

50. सबसे उपयकु्त नस्थनत का चयन करें नजसके 

नलए एक अंिी खोज का उपयोग नकया जा सकता 

है। 

क) वास्तनवक जीवन की नस्थनत 

बी) लघु खोज स्थान 

ग) जनटल खेल 

D. उपरोक्त सर्ी 

51. आनटटनफनशयल इटेंनलजेंस के 

अनुप्रयोग/अनुप्रयोग हैं/हैं 

ए) नवशेषज्ञ प्रणाली 

बी) गेनमंग 

सी) नवजन नसस्टम 

D. उपरोक्त सर्ी 

52. नदए गए नवकल्पों में से नकस खोज एल्गोररथम 

के नलए कम मेमोरी की आवश्यकता होती है? 

ए) इष्टतम खोज 

बी) गहराई पहली खोज 

ग) चौडाई-पहली खोज 

डी) रैनखक खोज 

 

53. यनद कोई रोबोट बाहरी पररनस्थनतयों के 

अनुसार अपने स्वयं के प्रके्षपवि को बदलने में 

सक्षम है, तो रोबोट को ______ के रूप में माना 

जाता है। 

एक मोबाइल 

बी) गैर सवो 

सी) ओपन लूप 

डी) बुनिमान 

 

54. एआई के नलए सामान्यतः नकस र्ाषा का 

प्रयोग नहीं नकया जाता है? 

ए) एलआईएसपी 

बी) प्रस्तावना 

सी) पायथन 

d) पली 

 

55. एक तकनीक नजसे यह ननिाटररत करने के नलए 

नवकनसत नकया गया था नक कोई मशीन कृनत्रम 

बुनि का प्रदशटन कर सकती है या नहीं, नजसे ___ 

के रूप में जाना जाता है 

ए) बूनलयन बीजगनणत 

बी) ट्यूररंग टेस्ट 
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c) लघुगणक 

डी) एल्गोररदम 

 

56. एक नवशेषज्ञ प्रणाली का घटक 

_________ है। 

क) ज्ञान का आिार 

बी) अनुमान इजंन 

सी) यूजर इटंरफेस 

D. उपरोक्त सर्ी 

 

57. गेम ट्ी में जीत/हार के ननणटय लेने के नलए 

नकस एल्गोररथम का उपयोग नकया जाता है? 

क) अनुमानी खोज एल्गोररथम 

बी) डीएफएस/बीएफएस एल्गोररथम 

सी) लालची खोज एल्गोररदम 

डी) न्यूनतम/अनिकतम एल्गोररदम 

58. राज्य-अंतररक्ष-खोज की समस्या को हल करने 

के उपलब्ि तरीके। 

ए) 1 

बी) 2 

ग) 3 

घ) 4 

 

59. नदए गए नवकल्पों में से कौन ज्ञान प्रनतनननित्व 

की आवश्यक संपनत्त नहीं है? 

ए) अनुमाननत दक्षता 

बी) अनुमाननत पयाटप्तता 

ग) प्रनतनननि सत्यापन 

डी) प्रनतनननि पयाटप्तता 

 

60. एआई एजेंट ___ का उपयोग करके पयाटवरण 

को देखता है और उस पर कायट करता है। 

ए) सेंसर 

बी) पनसटवर 

ग) एक्चुएटसट 

डी) ए और सी दोनों 

 

61. नसंपल ररफ्लेक्स एजेंट के नलए कौन सा ननयम 

लागू होता है? 

a) सरल-निया ननयम 

b) सरल और शतट-कारटवाई ननयम 

c) शतट-निया ननयम 

d) उपरोक्त में से कोई नहीं 

62. कौन सा एजेंट सुखी और दुखी राज्य से 

संबंनित है? 

ए) उपयोनगता आिाररत एजेंट 

बी) मॉडल-आिाररत एजेंट 

ग) लक्ष्य आिाररत एजेंट 

डी) लननिंग एजेंट 

 

63. तकट संगत एजेंट हमेशा सही काम करता है। 

a)सच्चा 

b)) झूठा 

 

64. कौन सा शब्द समस्या-समािान के ननणटयात्मक 

र्ाग के सामान्य ज्ञान का वणटन करता है? 

क) मूल्य-आिाररत 

बी) गंर्ीर 

ग) नवशे्लषणात्मक 

डी) अनुमानी 

 

65. कौन सी एआई तकनीक कं्यूटर को वस्तुओ ं

और घटनाओ ंके बीच संबंिों और संबंिों को 

समझने में सक्षम बनाती है? 

क) अनुमानी प्रसंस्करण 

बी) संज्ञानात्मक नवज्ञान 

सी) सापेक्ष प्रतीकवाद 

घ) पैटनट नमलान 

 

66. अन्वेषण समस्या वह जगह है जहां ______। 

ए) एजेंट में राज्य और कायों का ज्ञान होता है। 

बी) एजेंट में राज्य और कायों का ज्ञान नहीं होता है। 

ग) एजेंट को केवल नियाओ ंके बारे में पता होता 

है। 
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घ) उपरोक्त में से कोई नहीं 

 

67. Wumpus World समस्या में, 

अनननितता का कारण यह है नक एजेंट का सेंसर 

केवल__ देता है 

क) पूणट और वैनिक जानकारी 

बी) आंनशक और वैनिक सूचना 

ग) पूणट और स्थानीय जानकारी 

घ) आंनशक और स्थानीय सूचना 

68. खोज एल्गोररथम जो नमननमैक्स खोज के 

समान है, लेनकन उन शाखाओ ंको हटा देता है जो 

अंनतम आउटपुट को प्रर्ानवत नहीं करती हैं, __ के 

रूप में जानी जाती हैं। 

ए) गहराई-पहली खोज 

बी) चौडाई-पहली खोज 

ग) अल्फा-बीटा प्रूननंग 

घ) उपरोक्त में से कोई नहीं 

69. अनिकतम गहराई नजस पर अल्फा-बीटा प्रूननंग 

लाग ूकी जा सकती है। 

ए) आठ राज्य 

बी) छह राज्य 

ग) दस राज्य 

d) कोई र्ी गहराई 

 

70. नदए गए नवकल्पों में से, नजसे अनुमान ननयम 

के रूप में र्ी जाना जाता है? 

संदर्ट 

बी) सुिार 

ग) संकल्प 

घ) उपरोक्त में से कोई नहीं 

71. ज्ञान ननरूपण में जनटल वाक्यों के ननमाटण के 

नलए ननम्पननलनखत में से नकस नवकल्प का उपयोग 

नकया जाता है? 

क) प्रतीक 

बी) संयोजक 

सी) क्वांनटफायर 

घ) उपरोक्त में से कोई नहीं 

 

72. ऑटोमेनटक रीजननंग टूल का उपयोग _____ 

में नकया जाता है। 

ए) पसटनल कं्यटूर 

बी) माइिो कं्यूटर 

ग) एलआईएसपी मशीनें 

D. उपरोक्त सर्ी 

73. यनद पररकल्पना के अनुसार पररणाम 

सकारात्मक होना चानहए, लेनकन वास्तव में यह 

नकारात्मक है, तो इसे _______ के रूप में जाना 

जाता है। 

क) झूठी नकारात्मक पररकल्पना 

बी) झूठी सकारात्मक पररकल्पना 

ग) नवनशष्ट पररकल्पना 

डी) लगातार पररकल्पना 

74. एक हाइनब्रड बायेनसयन नेटवकट  में _____ 

होते हैं। 

क) केवल असतत चर 

बी) असंतत चर 

ग) असतत और सतत चर दोनों 

d) केवल सतत चर 

 

75. अनुमान प्रनिया को एकल अनुमान ननयम के 

रूप में पकडने की प्रनिया को कहा जाता है: 

क) खंड 

बी) पोनेंस 

सी) सामान्यीकृत मोडस पोनेंस 

डी) चर 

76. कौन-सी प्रनिया दो नर्न्न तानकट क व्यंजकों को 

एक समान बनाती है? 

क) एकीकरण 

बी) र्ारोत्तोलन 

ग) अनुमान प्रनिया 

घ) उपरोक्त में से कोई नहीं 

77. कौन सा एल्गोररथम दो वाक्यों को इनपुट के 

रूप में लेता है और एक यूननफायर लौटाता है? 

क) अनुमान 

b) नहल-क्लाइनम्पबंग 
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सी) एल्गोररदम को एकीकृत करें 

d) गहराई-पहली खोज 

78. कायट वातावरण में PEAS लगर्ग 

_________ है। 

ए। पीयर, एनवायरनमेंट, एक्चुएटसट, सेंस 

ए) प्रदशटन, पयाटवरण, एक्ट्यूएटर, सेंसर 

बी) िारणा, पयाटवरण, एक्ट्यूएटर, सेंसर 

ग) उपरोक्त में से कोई नहीं 

79. राज्य-अंतररक्ष में, नकसी समस्या के नलए 

नियाओ ंका सेट _____ द्वारा व्यक्त नकया जाता 

है। 

क) मध्यवती राज्य 

बी) उत्तरानिकारी कायट जो वतटमान कारटवाई करता है 

और अगली नस्थनत देता है 

ग) प्रारंनर्क राज्य 

घ) उपरोक्त में से कोई नहीं 

 

80. नकस खोज समस्या में, सबसे छोटा रास्ता 

खोजने के नलए, प्रत्येक शहर को केवल एक बार ही 

जाना चानहए? 

ए) माननचत्र रंग समस्या 

बी) नदए गए माननचत्र पर गहराई-प्रथम खोज 

टै्वसटल को ग्राफ के रूप में दशाटया गया है 

ग) स्रोत और गंतव्य के बीच सबसे छोटा रास्ता 

खोजना 

d) टै्वनलंग सेल्समैन की समस्या 

 

 

81. सरकार द्वारा आईसीटी के नवकास के नलए 

बजट का नकतना प्रनतशत प्रदान नकया गया है? 

ए) 5 

बी) 3 

ग) 6 

घ) 7 

 

82. र्ारत में सूचना संचार प्रौद्योनगकी का जनक 

नकसे माना जाता है? 

a) मदन मोहन मालवीय 

b) इनंदरा गांिी 

c) राजीव गांिी 

d) (D) अटल नबहारी वाजपेयी 

 

83. र्ारत में नकस वषट को ई-गवनेंस के वषट के रूप 

में मनाया गया? 

ए) 2001 

बी) 2003 

सी) 2005 

घ) 2007 

 

84. NEF का आयोजन कहााँ नकया गया था? 

a) राजसमंदी 

बी) र्रतपुर 

ग) अलवर 

घ) उदयपुर 

 

85. ई नजला नकन नजलों में संचानलत होता है? 

a) अजमेर अलवर 

b) अजमेर जोिपुर 

c) जयपुर र्रतपुर 

d) (D) जयपुर झालावाड 

 

86. राष्ट्ीय स्तर की ई-गवनेंस योजना का शुर्ारंर् 

क) 14 अगस्त 2002 को 

बी) 15 अगस्त 2002 

सी) 13 अगस्त 2002 

घ) 16 अगस्त 2002 

 

 

  

87. ई-गवनेंस के तहत सेवाए ंप्रचनलत हैं 

क) र्ामाशाही 

बी) एनमट्ा 

ग) नशक्षा पोटटल 

घ) सर्ी 
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88. प्रशासन के कायट में सूचना एवं संचार 

प्रौद्योनगकी के प्रयोग को कहते हैं 

ए) ई-गवनेंस 

बी) ई-लननिंग 

c) टैली गवनेंस 

d) एनमट्ा 

 

89. महात्मा गांिी राष्ट्ीय ग्रामीण रोजगार गारंटी 

अनिननयम योजना की ननगरानी के नलए वषट 2014 

का राष्ट्ीय ई-गवनेंस पुरस्कार नकस राज्य को 

नमला? 

ए) गुजरात 

बी) राजस्थान 

ग) हररयाणा 

घ) पंजाब 

 

90. सरकार और नागररकों के बीच सूचनाओ ंके 

इलेक्ट्ॉननक आदान-प्रदान को कहा जाता है 

ए) जी२सी 

बी) जी२जी 

ग) G2B 

घ) G2E 

 

91. आईसीटी के नवकास के नलए सरकार द्वारा 

प्राविाननत बजट का प्रनतशत नकतना है? 

ए) 1% 

बी) 2% 

ग) 3% 

घ) 4% 

 

92. र्ारत में सूचना संचार प्रौद्योनगकी का जनक 

नकसे माना जाता है? 

ए) महात्मा गांिी 

b) राजीव गांिी 

c) इनंदरा गांिी 

घ) अन्य 

 

93. कई प्रनियाए ंई-गवनेंस द्वारा की जाती हैं, इनमें 

से कौन बेमेल है? 

ए) जी से जी 

बी) जी से पी 

सी) जी से सी 

डी) जी से ई 

 

94. र्ारत में सूचना प्रौद्योनगकी अनिननयम कब 

लागू नकया गया था? 

ए) 18 अक्टूबर 2000 

बी) 18 अक्टूबर 2002 

ग) 10 अक्टूबर 2004 

घ) १५ अगस्त २००२ 

 

95. र्ारत में नकस वषट को शासन वषट के रूप में 

मनाया जाता है? 

ए) 2000 . पर 

बी) 2001 

सी) 2002 

घ) 2003 

 

96. 13 नदसंबर 2012 को इलेट्स टेक्नो मीनडया 

के सहयोग से नकस नजले में नॉलेज एक्सचेंज फोरम 

(एनईएफ) का आयोजन नकया गया था? 

ए) जयपुर 

b) झंुझुनंू 

c) झालावाड 

घ) उदयपुर 

 

97. कॉमन सनवटस सेंटर (सीएससी) एक नमशन मोड 

प्रोजेक्ट है, यह नकससे संबनंित है? 

क) कें द्र नमशन मोड पररयोजना 

ख) राज्य नमशन मोड पररयोजना 

ग) एकीकृत नमशन मोड पररयोजना 

d) उपरोक्त तीनों 
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98. राजस्थान सरकार का आनिकाररक वेब पोटटल 

क्या है? 

a) राज दपटण 

b) ज्ञान दपटण 

c) सरकार दपटण 

घ) राज्य सरकार का दपटण 

 

99. देवांग मेहता ने कहा ई-गवनेंस? 

ए) ऑनलाइन शासन 

बी) सुशासन 

ग) स्माटट गवनेंस 

डी) नडनजटल शासन 

 

100. राजस्थान में नडनजटल रूप से हस्ताक्षररत 

प्रमाण पत्र कब जारी नकए जा रहे हैं? 

क) 12 मई 2011 

बी) 12 मई 2012 

ग) 1 अपै्रल 2011 

घ) 1 अपै्रल 2012 

 

101. ई-गवनेंस पररयोजना का राष्ट्ीय ई-गवनेंस 

कायटिम कब शुरू नकया गया था? 

ए) 16 अगस्त 2002 

बी) 15 अगस्त 2002 

सी) 2001 

घ) १५ अगस्त २००१ 

 

102. सीएससी पररयोजना को राज्य स्तर पर 

नकसके नलए चलाया जा रहा है? 

ए) सूचना प्रोियोनगकी 

बी) राजकोमो 

सी) दोनों 

d) कोई र्ी 

 

103. ई-गवनेंस पररयोजना में नकतने चरण होते हैं? 

ए) 6 

बी 4 

ग) 2 

घ) 1 

 

104. राजस्थान में सीएससी पररयोजना कब शुरू 

ह ई थी? 

ए) 2009 

बी) 2008 

सी) 2002 

घ) 2001 

 

Answers with Explanation: 
 

1 Correct Answer: [B] Portal. 

2 Correct Answer: [D] commands. 

3 Correct Answer: [A] KB. 

4 Correct Answer: [A] Search engine. 

5 Correct Answer: [B] LAN. 

6 Correct Answer: [A] Unauthorized attack. 

7 Correct Answer: [B] 8. 

8 Correct Answer: [A] Black hat hackers. 

9 Correct Answer: [A] 8-bits. 

10 Correct Answer: [C] tim-berners-lee. 

11 Correct Answer: [A] 1 megabyte. 

12 Correct Answer: [C] Both (A) and (B). 

13 Correct Answer: [D] virus. 

14 Correct Answer: [A] 2. 

15 Correct Answer: [D] file transfer 

protocol. 

16 Correct Answer: [D] spam. 
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17 Correct Answer: [B] dial up service. 

18 Correct Answer: [A] switched mode 

power supply. 

19 Correct Answer: [C] cell. 

20 Correct Answer: [C] World Wide Web. 

21 Correct Answer: [A] home page. 

22 Correct Answer: [A] port. 

23 Correct Answer: [C] video 

conferencing. 

24 Correct Answer: [C] cracker. 

25 Correct Answer: [A] computer. 

26 Correct Answer: [D] user name and 

domain address. 

27 Correct Answer: [B] Hypertext Transfer 

protocol. 

28 Correct Answer: [B] computer program. 

29 Correct Answer: [D] denial of service 

attack. 

30 Correct Answer: [D] SPAM. 

31 Correct Answer: [B] Offender computer 

skills and victim ignorance of computer 

technology. 

32 Correct Answer: [C] webcam. 

33 Correct Answer: [D] all of these. 

34 Correct Answer: [A] baidu. 

35 Correct Answer: [D] excel. 

36 Correct Answer: [D] Paint Brush. 

37 Correct Answer: [B] Google Apps 

38 Correct Answer: [C] Telephone. 

39 Correct Answer: [B] super computer. 

40 Correct Answer: [C] understanding. 

41 Correct Answer: [B] OMR. 

42 Correct Answer: [D] embedded 

computer. 

43 Correct Answer: [D] chrome. 

44 Correct Answer: [B] vijay bhatkar. 

45 Correct Answer: [A] Azim Premji. 

46 Correct Answer: [B] Tim Berners-Lee. 

47 Correct Answer: [A] application 

software. 

48 Answer: b. Making a machine 

Intelligent. 

Explanation: Artificial Intelligence is a 

branch of Computer science, which aims to 

create intelligent machines so that machine 

can think intelligently in the same manner 

as a human does. 

49 Answer: c. John McCarthy 

Explanation: John McCarthy was a pioneer 

in the AI field and known as the father of 

Artificial intelligence. He was not only the 

known as the father of AI but also invented 

the term Artificial Intelligence. 

50 Answer: b. Small Search Space 

Explanation: Blind Search is also known as 

uninformed search, and it does not contain 

any domain information such as closeness, 

location of the goal, etc. Hence the most 

appropriate situation that can be used for 

the blind search is Small-search Space. 

51 Answer: d. All of the above 

Explanation: All the given options are the 

applications of AI. 

52 Answer: b. Depth First Search 

Explanation: The Depth Search Algorithm 

or DFS requires very little memory as it 
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only stores the stack of nodes from the root 

node to the current node. 

53 Answer: d. Intelligent 

Explanation: If a robot is able to change its 

own trajectory as per the external 

conditions, then the robot is considered 

intelligent. Such type of agents come under 

the category of AI agents or Rational 

Agents. 

54 Answer: d. Perl 

Explanation: Among the given languages, 

Perl is not commonly used for AI. LISP and 

PROLOG are the two languages that have 

been broadly used for AI innovation, and 

the most preferred language is Python for 

AI and Machine learning. 

55 Answer: b. Turing Test 

Explanation: In the year 1950, 

mathematician and computing 

pioneer Alan Turing introduced a test to 

determine whether a machine can think like 

a human or not, which means it can 

demonstrate intelligence, known as 

the Turing Test 

It was based on the "Imitation game" with 

some modifications. This technique is still 

a measure of various successful AI projects, 

with some updates. 

56 Answer: d. All of the above 

Explanation: Expert system is a part of AI 

and a computer program that is used to 

solve complex problems, and to give the 

decision-making ability like human. It does 

this with the help of a Knowledge base, 

Inference engine, and User interface, and 

all these are the components of an Expert 

System. 

57 Answer: d. Min/Max Algorithm 

Explanation: A game tree is a directed 

graph whose nodes represent the positions 

in Game and edges represent the moves. To 

make any decision, the game tree uses the 

Min/Max algorithm. The Min/Max 

algorithm is the preferred one over other 

search algorithms, as it provides the best 

move to the player, assuming that the 

opponent is also playing Optimally. 

 

58 Answer: b. 2 

Explanation: There are only two ways to 

solve the problems of state-space search. 

59 Answer: C. Representational 

Verification 

Explanation: Knowledge representation is 

the part of Artificial Intelligence that deals 

with AI agent thinking and how their 

thinking affects the intelligent behavior of 

agents. A good knowledge representation 

requires the following properties: 

o Representational Accuracy 

o Inferential Adequacy 

o Inferential Efficiency 

o Acquisitional efficiency 

60 Answer: d. Both a and c. 

Explanation: An AI agent perceives and 

acts upon the environment using Sensors 

and Actuators. With Sensors, it senses the 

surrounding, and with Actuators, it acts on 

it. 

61 Answer: c. Condition-action rule 

Explanation: The simple reflex agent takes 

decisions only on the current condition and 

acts accordingly; it ignores the rest of 

history; hence it follows the Condition-

action rule. 

https://www.javatpoint.com/turing-test-in-ai
https://www.javatpoint.com/turing-test-in-ai
https://www.javatpoint.com/mini-max-algorithm-in-ai
https://www.javatpoint.com/mini-max-algorithm-in-ai
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Answer: a. Utility-based agent 

62 Explanation: Utility-based agent uses an 

extra component of utility that provides a 

measure of success at a given state. It 

decides that how efficient that state to 

achieve the goal, which specifies the 

happiness of the agent. 

63 Answer: a. True 

Explanation: Rational agent has clear 

preference, goal, and acts in a way to 

maximize its performance. It is said that it 

always does the right things, which means 

it gives the best performance for each 

action. 

64 Answer: d. Heuristic 

Explanation: In problem-solving, the 

Heuristic describes the common sense or 

Judgemental part. 

65 Answer: d. Pattern Matching 

Explanation: Pattern matching is a way to 

check a given sequence of tokens in order 

to determine the presence of a given 

character or data in the given sequence. It 

allows computers to understand the 

relationship between objects and events. 

66 Answer: b. Agent does not contain 

knowledge State and actions 

Explanation: In Exploration problems, the 

agent does not contain the knowledge of 

state space and actions in advance. These 

are difficult problems and used in the real 

world. 

 

67 Answer: d. Partial & local Information 

Explanation: The Wumpus world is an 

example environment that is made of grids 

of squares surrounded by walls. Each 

square can have agents or objects. The 

world is used to demonstrate the worth of a 

knowledge-based agent and knowledge 

representation. In the environment, 

uncertainty arises as the agent can only 

perceive the close environment. The 

Wumpus world is represented in below 

image: 

68 Answer: c. Alpha-beta pruning 

Explanation: Alpha-beta pruning 

algorithm is the modified version of the 

Minimax algorithm and returns the same 

moves as the original algorithm, but it 

removes all those nodes/branches that do 

not affect the final decision. 

69 Answer: d. Any depth 

Explanation: The Alpha-beta pruning can 

be applied to any depth of the tree and it can 

eliminate the entire subtree, if it is not 

affecting the final decision. 

70 Answer: c. Resolution 

Explanation: Resolution is also known as 

inference rule as it shows the complete 

inference rule when applied to any search 

algorithm. 

71 Answer: 

Explanation: Complex sentences are built 

by combining the atomic sentences using 

connectives. 

72 Answer: c. LISP Machine 

Explanation: ART or Automatic Reasoning 

tool is used in LISP machines to understand 

the different aspects of reasoning. 

73 Answer: b. False Positive Hypothesis 

Explanation: The False Positive Hypothesis 

means that according to results, you have 

that condition, but in reality, you don't have 

it. Such as for a medical test, if someone is 

https://www.javatpoint.com/ai-alpha-beta-pruning
https://www.javatpoint.com/ai-alpha-beta-pruning
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found Positive for a disease, but actually he 

doesn't have that disease, then it comes 

under the False Positive hypothesis. 

 

74 Answer: c. Both Discrete and 

Continuous Variables 

Explanation: The Hybrid Bayesian network 

contains both discrete and continuous 

variables as the numerical inputs. To define 

the hybrid network, both kinds of 

distributions are used at wide probability 

distribution. 

75 Answer: c. Generalized Modus Ponens 

Explanation: For all inference process in 

FOL, the single inference rule can be used, 

which is called Generalized Modus Ponens. 

It is said to be the lifted version of Modus 

ponens. Generalized Modus Ponens can be 

said as, " P implies Q and P is asserted to be 

true, therefore Q must be True." 

76 Answer: a. Unification 

Explanation: Unification is the process of 

making two different logical expressions 

identical by finding a substitution. 

77 Answer: c. Unify Algorithm 

Explanation: The unify algorithm takes two 

atomic sentences and return a unifier. It is 

used for the unification process. 

78 Answer: b. Performance, Environment, 

Actuators, Sensors 

Explanation: PEAS is a representation 

model on which an AI agent works. It is 

made up of four words: 

o P: Performance 

o E: Environment 

o A: Actuators 

o S: Sensors 

79 Answer: b. Successor function that takes 

current action and returns next state 

Explanation: The successor function 

provides a description of all possible 

actions and their next states, which means 

their outcomes. 

 

80 Answer: d. Travelling Salesman 

problem 

Explanation: The TSP or Travelling 

Salesman problem is about finding the 

shortest possible route to visit each city 

only once and returning to the origin city 

when the list of all cities and distances 

between each pair of cities is given. 

81 Correct answer (b)✔ 

82 Correct answer (c)✔ 

83 Correct answer (a)✔ 

84 Correct answer (D) ✔ 

85 Correct answer (b)✔ 

86 Correct answer (b)✔ 

87 Correct answer (D) ✔ 

88 Correct answer (a)✔ 

89 Correct answer (a)✔ 

90 Correct answer (a)✔ 

 

91 Correct answer (c)✔ 

Explanation:- There is a provision of 3% 

budget for the development of ict by the 

government. 

 

92 Correct answer (b)✔ 

Explanation:- Rajiv Gandhi is considered 

to be the father of information 

communication technology in India. 

 

93 Correct answer (b)✔ 

Explanation:- E-governance is driven by 

ICT which is in the form of an 

organization and many processes are done 
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by e-government like (1) G2G (2) G2C (3) 

G2E (4) G2B. 

 

94 Correct answer (a)✔ 

Explanation: - Information Technology 

Act was implemented in India on 18 

October 2000 and cyber crime will be 

punished in this law and electronic 

document digital signature e-mail has also 

been recognized 

 

95 Correct answer (b)✔ 

Explanation:- The year 2001 is celebrated 

as the year of e-governance in India 

 

96 Correct answer (D) ✔ 

Explanation:- Knowledge Exchange 

Forum was organized in collaboration with 

Elets Techno Media on 13th December 

2012 in Udaipur. 

 

97 Correct answer (c)✔ 

Explanation:- Common Service Center 

(CSC) is mission mode project, it is related 

to integrated mission mode project. 

 

98 (a)✔ 

Explanation:- Raj Darpan is an authorized 

web portal of the Government of 

Rajasthan. 

 

99 Correct answer (c)✔ 

Explanation:- Devang Mehta called it 

smart (SMART) governance. 

 

100 Correct answer (a)✔ 

Explanation:- Digital signature certificates 

are being issued in Rajasthan from 12 May 

2011. 

101 Correct answer (b)✔ 

102 Correct answer (a)✔ 

103 Correct answer (b)✔ 

104 Correct answer (a)✔ 

105 Correct answer (c)✔ 

106 Correct answer (D) ✔ 

107 Correct answer (d)✔ 

स्पष्टीकरण के साथ उत्तर: 

1 सही उत्तर: [बी] पोर्टल। 

2 सही उत्तर: [डी] आदशे। 

3 सही उत्तर: [ए] केबी। 

4 सही उत्तर: [ए] सर्ट इजंन। 

5 सही उत्तर: [बी] लैन। 

6 सही उत्तर: [ए] अनधिकृत हमला। 

7 सही उत्तर: [बी] 8. 

8 सही उत्तर: [ए] ब्लैक हरै् हकैसट। 

9 सही उत्तर: [ए] 8-धबर््स। 

10 सही उत्तर: [सी] धर्म बनटसट-ली। 

11 सही उत्तर: [ए] 1 मेगाबाइर्। 

12 सही उत्तर: [सी] दोनों (ए) और (बी)। 

13 सही उत्तर: [डी] वायरस। 

14 सही उत्तर: [ए] 2. 

15 सही उत्तर: [डी] फाइल ट्ांसफर प्रोर्ोकॉल। 

१६ सही उत्तर: [डी] स्पमै। 

17 सही उत्तर: [बी] डायल अप सेवा। 

18 सही उत्तर: [ए] धस्वर् मोड धबजली की आपधूतट। 

19 सही उत्तर: [सी] सेल। 

20 सही उत्तर: [सी] वर्लडट वाइड वेब। 

21 सही उत्तर: [ए] होम पेज। 

22 सही उत्तर: [ए] बंदरगाह। 

23 सही उत्तर: [सी] वीधडयो कॉन्फ्रें धसंग। 

24 सही उत्तर: [सी] पर्ाखा। 

25 सही उत्तर: [ए] कंप्यरू्र। 

26 सही उत्तर: [डी] उपयोगकताट नाम और डोमने पता। 

27 सही उत्तर: [बी] हाइपररे्क्सस्र् ट्ांसफर प्रोर्ोकॉल। 

२८ सही उत्तर: [बी] कंप्यरू्र प्रोग्राम। 
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29 सही उत्तर: [डी] सेवा हमले से इनकार। 

30 सही उत्तर: [डी] स्पैम। 

31 सही उत्तर: [बी] अपरािी कंप्यरू्र कौशल और 

कंप्यरू्र प्रौद्योधगकी के धशकार अज्ञानता। 

32 सही उत्तर: [सी] वेब कैमरा। 

33 सही उत्तर: [डी] ये सभी। 

34 सही उत्तर: [ए] Baidu। 

35 सही उत्तर: [डी] एक्ससेल। 

36 सही उत्तर: [डी] पेंर् ब्रश। 

37 सही उत्तर: [बी] गगूल ऐप्स 

38 सही उत्तर: [सी] रे्लीफोन। 

39 सही उत्तर: [बी] सपुर कंप्यरू्र। 

40 सही उत्तर: [सी] समझ। 

41 सही उत्तर: [बी] ओएमआर। 

42 सही उत्तर: [डी] एम्बेडेड कंप्यरू्र। 

43 सही उत्तर: [डी] क्रोम। 

44 सही उत्तर: [बी] धवजय भर्कर। 

45 सही उत्तर: [ए] अजीम प्रमेजी। 

46 सही उत्तर: [बी] धर्म बनटसट-ली। 

47 सही उत्तर: [ए] एप्लीकेशन सॉफ्र्वेयर। 

48 उत्तर: बी। मशीन को बुधिमान बनाना। 

49 उत्तर: सी। जॉन मैकार्थी 

व्याख्या: जॉन मैकार्थी एआई क्षते्र में अग्रणी रे्थ और उन्फ्हें 

आधर्टधफधशयल इरें्धलजेंस के जनक के रूप में जाना जाता 

ह।ै उन्फ्हें न केवल AI के जनक के रूप में जाना जाता र्था 

बधर्लक उन्फ्होंने आधर्टधफधशयल इरें्धलजेंस शब्द का 

आधवष्कार भी धकया र्था। 

50 उत्तर: बी। छोर्ा खोज स्र्थान 

व्याख्या: ब्लाइडं सर्ट को धबना सरू्ना के खोज के रूप में 

भी जाना जाता ह,ै और इसमें कोई डोमेन जानकारी नहीं 

होती ह ैजैसे धक धनकर्ता, लक्ष्य का स्र्थान, आधद। 

इसधलए सबसे उपयकु्त धस्र्थधत धजसका उपयोग अंिा खोज 

के धलए धकया जा सकता ह ैवह ह ैलघ-ुखोज स्र्थान। 

51 उत्तर: डी। ऊपर के सभी 

व्याख्या: धदए गए सभी धवकर्लप एआई के अनुप्रयोग हैं। 

52 उत्तर: बी। गहराई पहली खोज 

व्याख्या: डेप्र्थ सर्ट एर्लगोररर्थम या डीएफएस को बहतु 

कम ममेोरी की आवश्यकता होती ह ैक्सयोंधक यह केवल 

रूर् नोड से वतटमान नोड तक नोड्स के स्रै्क को स्र्ोर 

करता ह।ै 

53 उत्तर: डी। बुधिमान 

व्याख्या: यधद कोई रोबोर् बाहरी पररधस्र्थधतयों के अनुसार 

अपने स्वयं के प्रक्षेपवक्र को बदलने में सक्षम ह,ै तो 

रोबोर् को बुधिमान माना जाता ह।ै इस प्रकार के एजेंर् 

एआई एजेंर्ों या तकट संगत एजेंर्ों की श्रेणी में आते हैं। 

54 उत्तर: डी। पलट 

व्याख्या: दी गई भाषाओ ंमें, पलट का प्रयोग आमतौर पर 

एआई के धलए नहीं धकया जाता ह।ै LISP और 

PROLOG दो भाषाएँ हैं धजनका व्यापक रूप से AI 

नवार्ार के धलए उपयोग धकया गया ह,ै और सबसे 

पसंदीदा भाषा AI और मशीन सीखने के धलए पायर्थन 

ह।ै 

55 उत्तर: बी। र््यरूरंग रे्स्र् 

व्याख्या: वषट 1950 में, गधणतज्ञ और कंप्यधूरं्ग के 

अग्रणी एलन र््यरूरंग न ेयह धनिाटररत करने के धलए एक 

परीक्षण पेश धकया धक क्सया कोई मशीन मानव की तरह 

सोर् सकती ह ैया नहीं, धजसका अर्थट ह ैधक यह बुधि का 

प्रदशटन कर सकती ह,ै धजसे र््यरूरंग रे्स्र् के रूप में जाना 

जाता ह।ै 

यह कुछ संशोिनों के सार्थ "नकली खले" पर आिाररत 

र्था। यह तकनीक अभी भी कुछ अपडेर् के सार्थ धवधभन्फ्न 

सफल एआई पररयोजनाओ ंका एक उपाय ह।ै 

56 उत्तर: डी। ऊपर के सभी 

व्याख्या: धवशेषज्ञ प्रणाली एआई और एक कंप्यरू्र प्रोग्राम 

का एक धहस्सा ह ैधजसका उपयोग जधर्ल समस्याओ ंको 

हल करने और मानव की तरह धनणटय लेने की क्षमता दनेे 

के धलए धकया जाता ह।ै यह नॉलजे बेस, इटं्ेंस इजंन और 

यजूर इरं्रफेस की मदद से ऐसा करता ह,ै और ये सभी 

एक धवशेषज्ञ प्रणाली के घर्क हैं। 

57 उत्तर: डी। न्फ्यनूतम/अधिकतम एर्लगोररदम 

व्याख्या: गेम ट्ी एक धनदधेशत ग्राफ ह ैधजसके नोड गमे में 

धस्र्थधत का प्रधतधनधित्व करते हैं और धकनारे र्ाल का 

प्रधतधनधित्व करते हैं। कोई भी धनणटय लेने के धलए, गमे ट्ी 

न्फ्यनूतम/अधिकतम एर्लगोररर्थम का उपयोग करता ह।ै 

न्फ्यनूतम/अधिकतम एर्लगोररदम अन्फ्य खोज एर्लगोररदम पर 
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पसंदीदा ह,ै क्सयोंधक यह धखलाडी को सवोत्तम र्ाल प्रदान 

करता ह,ै यह मानते हएु धक प्रधतद्वदं्वी भी ऑधप्र्मली खेल 

रहा ह।ै 

58 उत्तर: बी। 2 

व्याख्या: राज्य-अंतररक्ष खोज की समस्याओ ंको हल 

करने के केवल दो तरीके हैं। 

59 उत्तर: सी. प्रधतधनधि सत्यापन 

व्याख्या: ज्ञान प्रधतधनधित्व आधर्टधफधशयल इरें्धलजेंस का 

धहस्सा ह ैजो एआई एजेंर् सोर् से संबंधित ह ैऔर उनकी 

सोर् एजेंर्ों के बुधिमान व्यवहार को कैसे प्रभाधवत करती 

ह।ै एक अच्छे ज्ञान प्रधतधनधित्व के धलए धनम्नधलधखत 

गणुों की आवश्यकता होती ह:ै 

o प्रधतधनधि सर्ीकता 

o अनुमाधनत पयाटप्तता 

ओ अनुमान क्षमता 

o अधिग्रहण दक्षता 

60 उत्तर: डी। ए और सी दोनों। 

व्याख्या: एआई एजेंर् सेंसर और एक्सर््यएूर्सट का उपयोग 

करके पयाटवरण को दखेता ह ैऔर उस पर कायट करता ह।ै 

सेंसर के सार्थ, यह आस-पास को महससू करता ह,ै और 

एक्सर््यएूर्सट के सार्थ, यह उस पर कायट करता ह।ै 

61 उत्तर: सी। शतट-धक्रया धनयम 

व्याख्या: सािारण प्रधतवतट कारक केवल वतटमान धस्र्थधत 

पर ही धनणटय लतेा ह ैऔर उसी के अनुसार कायट करता 

ह;ै यह शेष इधतहास की उपके्षा करता ह;ै इसधलए यह 

शतट-धक्रया धनयम का पालन करता ह।ै 

उत्तर: ए. उपयोधगता आिाररत एजेंर् 

62 स्पष्टीकरण: उपयोधगता-आिाररत एजेंर् उपयोधगता 

के एक अधतररक्त घर्क का उपयोग करता ह ैजो धकसी 

धदए गए राज्य में सफलता का एक उपाय प्रदान करता ह।ै 

यह तय करता ह ैधक वह राज्य लक्ष्य को प्राप्त करने में 

धकतना कुशल ह,ै जो एजेंर् की खशुी को धनधदटष्ट करता ह।ै 

63 उत्तर: ए। सत्य 

व्याख्या: तकट संगत एजेंर् के पास अपने प्रदशटन को 

अधिकतम करने के धलए स्पष्ट वरीयता, लक्ष्य और कायट 

करता ह।ै ऐसा कहा जाता ह ैधक यह हमेशा सही काम 

करता ह,ै धजसका अर्थट ह ैधक यह प्रत्येक धक्रया के धलए 

सवटश्रेष्ठ प्रदशटन दतेा ह।ै 

64 उत्तर: डी। अनमुानी 

व्याख्या: समस्या-समािान में, अनुमानी सामान्फ्य ज्ञान या 

न्फ्याधयक भाग का वणटन करता ह।ै 

65 उत्तर: डी। पैर्नट धमलान 

व्याख्या: पैर्नट धमलान धकसी धदए गए अनुक्रम में धदए गए 

वणट या डेर्ा की उपधस्र्थधत को धनिाटररत करने के धलए 

र्ोकन के धदए गए अनुक्रम की जारं् करने का एक तरीका 

ह।ै यह कंप्यरू्र को वस्तुओ ंऔर घर्नाओ ंके बीर् संबंि 

को समझने की अनमुधत दतेा ह।ै 

66 उत्तर: बी। एजेंर् के पास ज्ञान राज्य और कायट नहीं ह ै

व्याख्या: अन्फ्वेषण समस्याओ ंमें, एजेंर् को राज्य के 

स्र्थान और कायों का अधग्रम ज्ञान नहीं होता ह।ै ये कधिन 

समस्याएं हैं और वास्तधवक दधुनया में उपयोग की जाती 

हैं। 

67 उत्तर: डी। आंधशक और स्र्थानीय जानकारी 

व्याख्या: वम्पस दधुनया एक उदाहरण पयाटवरण ह ैजो 

दीवारों से धघरे वगों के धग्रड से बना ह।ै प्रत्येक वगट में 

एजेंर् या ऑब्जेक्सर् हो सकते हैं। दधुनया का उपयोग ज्ञान-

आिाररत एजेंर् और ज्ञान प्रधतधनधित्व के मरू्लय को 

प्रदधशटत करने के धलए धकया जाता ह।ै वातावरण में, 

अधनधितता उत्पन्फ्न होती ह ैक्सयोंधक एजेंर् केवल धनकर् के 

वातावरण को ही दखे सकता ह।ै Wumpus दधुनया 

को नीर्े की छधव में दशाटया गया ह:ै 

68 उत्तर: सी। अर्लफा-बीर्ा प्रधूनगं 

69 उत्तर: डी। कोई भी गहराई 

व्याख्या: अर्लफा-बीर्ा प्रधूनगं को पेड की धकसी भी 

गहराई पर लाग ूधकया जा सकता ह ैऔर अगर यह अंधतम 

धनणटय को प्रभाधवत नहीं कर रहा ह,ै तो यह परेू उपट्ी को 

खत्म कर सकता ह।ै 

70 उत्तर: सी। संकर्लप 

स्पष्टीकरण: संकर्लप को अनमुान धनयम के रूप में भी 

जाना जाता ह ैक्सयोंधक यह धकसी भी खोज एर्लगोररदम पर 

लाग ूहोने पर पणूट अनुमान धनयम धदखाता ह।ै 

71 उत्तर: 

व्याख्या: जधर्ल वाक्सयों को संयोजकों का उपयोग करके 

परमाण ुवाक्सयों को धमलाकर बनाया जाता ह।ै 
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72 उत्तर: सी। एलआईएसपी मशीन 

व्याख्या: तकट  के धवधभन्फ्न पहलओु ंको समझने के धलए 

LISP मशीनों में ART या स्वर्ाधलत तकट  उपकरण 

का उपयोग धकया जाता ह।ै 

73 उत्तर: बी। झिूी सकारात्मक पररकर्लपना 

व्याख्या: झिूी सकारात्मक पररकर्लपना का अर्थट ह ैधक 

पररणामों के अनुसार, आपके पास वह धस्र्थधत ह,ै लेधकन 

वास्तव में आपके पास नहीं ह।ै जसेै धक मेधडकल रे्स्र् के 

धलए यधद कोई व्यधक्त धकसी बीमारी के धलए पॉधजधर्व 

पाया जाता ह,ै लेधकन वास्तव में उसे वह बीमारी नहीं ह,ै 

तो यह फॉर्लस पॉधजधर्व पररकर्लपना के अंतगटत आता ह।ै 

74 उत्तर: सी। असतत और सतत र्र दोनों 

व्याख्या: हाइधब्रड बायेधसयन नेर्वकट  में संख्यात्मक इनपरु् 

के रूप में असतत और धनरंतर र्र दोनों होते हैं। हाइधब्रड 

नेर्वकट  को पररभाधषत करने के धलए, व्यापक संभाव्यता 

धवतरण पर दोनों प्रकार के धवतरण का उपयोग धकया 

जाता ह।ै 

75 उत्तर: सी। सामान्फ्यीकृत मोडस पोनेंस 

व्याख्या: एफओएल में सभी अनमुान प्रधक्रया के धलए, 

एकल अनुमान धनयम का उपयोग धकया जा सकता ह,ै 

धजसे सामान्फ्यीकृत मोडस पोनेंस कहा जाता ह।ै इसे मोडस 

पोनेंस का उिा हुआ संस्करण कहा जाता ह।ै सामान्फ्यीकृत 

मोडस पोनेंस के रूप में कहा जा सकता ह,ै "पी का अर्थट 

ह ैक्सय ूऔर पी को सर् माना जाता ह,ै इसधलए क्सय ूको 

सर् होना र्ाधहए।" 

76 उत्तर: ए। एकीकरण 

व्याख्या: एकीकरण दो अलग-अलग ताधकट क व्यंजकों को 

एक स्र्थानापन्फ्न खोजकर समान बनाने की प्रधक्रया ह।ै 

77 उत्तर: सी। एर्लगोररदम को एकीकृत करें 

व्याख्या: यधूनफाइड एर्लगोररर्थम दो परमाण ुवाक्सय लेता ह ै

और एक यधूनफायर लौर्ाता ह।ै इसका उपयोग एकीकरण 

प्रधक्रया के धलए धकया जाता ह।ै 

78 उत्तर: बी। प्रदशटन, पयाटवरण, एक्सर्एुर्सट, सेंसर 

व्याख्या: PEAS एक प्रधतधनधित्व मॉडल ह ैधजस पर 

AI एजेंर् काम करता ह।ै यह र्ार शब्दों से धमलकर बना 

ह:ै 

ओ पी: प्रदशटन 

ओ ई: पयाटवरण 

ओ ए: एक्सर््यएूर्सट 

ओ एस: सेंसर 

79 उत्तर: बी। उत्तराधिकारी कायट जो वतटमान धक्रया 

करता ह ैऔर अगला राज्य लौर्ाता ह ै

व्याख्या: उत्तराधिकारी कायट सभी संभाधवत धक्रयाओ ंऔर 

उनकी अगली अवस्र्थाओ ंका धववरण प्रदान करता ह,ै 

धजसका अर्थट ह ैउनके पररणाम। 

80 उत्तर: डी। टै्वधलगं सेर्लसमैन की समस्या 

व्याख्या: र्ीएसपी या टै्वधलंग सेर्लसमैन समस्या प्रत्येक 

शहर में केवल एक बार जाने के धलए सबसे छोर्ा संभव 

मागट खोजने और मलू शहर में लौर्ने के बारे में ह ैजब 

सभी शहरों की सरू्ी और शहरों की प्रत्येक जोडी के बीर् 

की दरूी दी जाती ह।ै 

81 सही उत्तर (बी)    

82 सही उत्तर (सी)    

83 सही उत्तर (ए)    

84 सही उत्तर (डी)     

85 सही उत्तर (बी)    

86 सही उत्तर (बी)    

87 सही उत्तर (डी)     

88 सही उत्तर (ए)    

89 सही उत्तर (ए)    

90 सही उत्तर (ए)    
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91 सही उत्तर (सी)    

व्याख्या:- आईसीर्ी के धवकास के धलए सरकार द्वारा 

3% बजर् का प्राविान ह.ै 

92 सही उत्तर (बी)    

व्याख्या:- राजीव गांिी को भारत में सरू्ना संर्ार 

प्रौद्योधगकी का जनक माना जाता ह।ै 

93 सही उत्तर (बी)    

व्याख्या:- ई-गवनेंस आईसीर्ी द्वारा संर्ाधलत होता ह ैजो 

एक संगिन के रूप में होता ह ैऔर कई प्रधक्रयाएं ई-

सरकार द्वारा की जाती हैं जैसे (1) G2G (2) G2C 

(3) G2E (4) G2B। 

94 सही उत्तर (ए)    

व्याख्या :- भारत में सरू्ना प्रौद्योधगकी अधिधनयम 18 

अक्सरू्बर 2000 को लाग ूधकया गया र्था और इस कानून 

में साइबर अपराि को दधंडत धकया जाएगा और 

इलेक्सट्ॉधनक दस्तावेज़ धडधजर्ल हस्ताक्षर ई-मले को भी 

मान्फ्यता दी गई ह।ै 

95 सही उत्तर (बी)    

व्याख्या:- वषट 2001 को भारत में ई-गवनेंस के वषट के 

रूप में मनाया जाता ह ै

 

96 सही उत्तर (डी)     

व्याख्या:- 13 धदसंबर 2012 को उदयपरु में इलर्े्स 

रे्क्सनो मीधडया के सहयोग से नॉलजे एक्ससर्ेंज फोरम का 

आयोजन धकया गया. 

97 सही उत्तर (सी)    

व्याख्या:- कॉमन सधवटस सेंर्र (CSC) धमशन मोड 

प्रोजेक्सर् ह,ै यह इरं्ीगे्ररे्ड धमशन मोड प्रोजेक्सर् से संबंधित 

ह.ै 

98  (ए)     

व्याख्या:- राज दपटण राजस्र्थान सरकार का अधिकृत वेब 

पोर्टल ह।ै 

99 सही उत्तर (सी)    

व्याख्या:- दवेागं मेहता न ेइसे स्मार्ट (स्मार्ट) शासन कहा। 

100 सही उत्तर (ए)    

व्याख्या:- राजस्र्थान में 12 मई 2011 से धडधजर्ल 

धसग्नेर्र सधर्टधफकेर् जारी धकये जा रह ेहैं. 

101 सही उत्तर (बी)    

102 सही उत्तर (ए)    

103 सही उत्तर (बी)    

104 सही उत्तर (ए)    

105 सही उत्तर (सी)    

106 सही उत्तर (डी)     

107 सही उत्तर (डी)    


